SPEED AND DENSITY
OCR GSCE – Monday 9 November 2020 – Paper 6 (Calculator) Higher Tier
1.
[image: ]


OCR GSCE – Monday 11 November 2019 – Paper 6 (Calculator) Higher Tier
2.
[image: ]




OCR GSCE – Thursday 8 November 2018 – Paper 5 (Non-Calculator) Higher Tier
3.
[image: ]


















OCR GSCE – Tuesday 13 June 2017 – Paper 6 (Calculator) Higher Tier
4.
[image: ]


OCR GSCE – Sample Papers – Paper 5 (Non - Calculator) Higher Tier
5.
[image: ]










OCR GSCE – Sample Papers – Paper 6 (Calculator) Higher Tier
6.
[image: ]




AQA GSCE – Thursday 4 June 2020 – Paper 2 (Calculator) Higher Tier
7.
[image: ]
















AQA GSCE – Thursday 6 June 2019 – Paper 2 (Calculator) Higher Tier
8.
[image: ]











AQA GSCE – Tuesday 11 June 2019 – Paper 3 (Calculator) Higher Tier
9.
[image: ]










AQA GSCE – Thursday 7 June 2018 – Paper 2 (Calculator) Higher Tier
10.
[image: ]



AQA GSCE – Thursday 7 June 2018 – Paper 2 (Calculator) Higher Tier
11.
[image: ]





AQA GSCE – Wednesday 25 May 2017 – Paper 1 (Non - Calculator) Higher Tier
12.
[image: ]











AQA GSCE – Tuesday 13 June 2017 – Paper 3 (Calculator) Higher Tier
13.
[image: ]





[bookmark: _GoBack]AQA GSCE – Sample Paper 2 (Calculator) Higher Tier
14.
[image: ]
image7.png
1 A solid piece of silver has
mass 2.625 kilograms
volume 250 em®

Work out the density of the piece of silver.

Give your answer in grams per cubic centimetre.

[2 marks]

glom®
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Beth drives 200 miles in 4 hours.
‘She drives the first 18 miles at an average speed of 36 mph

Work out her average speed for the rest of the journey.
13 marks]

Answer mph
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Two solids, J and K, have the same density.

Complete the table.
Include units in your answers.

g K
Mass 489 789
Volume gom®

Density

[3 marks]
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16 ‘Some concrete has volume 3.8 m*
16 (@) The density of the concrete is 2400 kg/m®
Work out the mass of the concrete.

[2marks)
Ansuer o
16 (b)  The 3.8 m’of concrete is made into the shape of a cylinder.
The base has racus 0.5 metres.
Work out the hight of the cyinder.
(2 marks)
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21 Lizand Tia are walking towards a shop along different straight paths.
The diagram shows teir positons at2 pm

Notdan
prsd
o
21 (0 Assume hey wlk t o same spec.
[ ——
Voumustshow o orkng.
= 3 marks]
Arovar
21 () Infac, L vakeata et speed ha T

How does this affect he answer fo part (a)?
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mass
Volume

9 (a) Density=

‘The mass of solid A is 6 times the mass of solid B.
‘The volume of solid A s 3 times the volume of solid B.

Complete the sentence.
11 mark]

‘The density of solid A s times the density of solid B.

distance

9 () Average speed = <2

Ifthe distance is halved and the time is doubled, what happens to the average speed?

Circle your answer.
11 mark]

«2 x4 nochange <2
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17

Liam drives his car.
He drives the first 9 miles in 9 minutes.

He then drives at an average speed of 70 miles per hour for 1 hour 36 minutes.

He finds this information about his car.

Average speed Miles travelled per gallon
65 miles per hour or less 50
More than 65 miles per hour 40

Use the information to show that his car uses less than 3 gallons of petrol for the drive.

15 marks]
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17 Thedistance from the Earth to the Sun is 93 milion miles.
Assume
ttakes 365 days for the Earth to travel once around the Sun
the Earth travels in a circle with the Sun at the centre.

17 (a)  Work out the average speed of the Earth in miles per hour.
[4 marks]

Answer miles per hour

17 ) actaty ks 365 o o e Eat o el ncsaround e Son

How does this affect your answer to part (a)?
11 mark]





image1.png
Atruck s used to transport some wood panels.
Each wood panel is a cuboid measuring 24m by 1.2m by 1.8cm.
The densily of each wood panalis 750kg/m’

The truck can carry 15 tonnes of these wood panais.

Calculate the maximum number of wood panels that the truck can carry.
‘Show how you decide.
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12 (a) Amon ran a distance of Skm at an average speed of 2.2m/s.

How long did Aron un for?
Give your answer in minutes and seconds, o the nearest second.

(@) oo mintes ... soconds (4]
(b) Claudine cycled a distance of 53km in 2.7 hours.
The distance is measured correct {0 the nearest km.
The time is given correct to 1 decimal piace.
Calculate the lower and upper bounds of her average speod

Give your answers correct o 2 deciml places.

() lowerbound = . km/h
UPPErBOUNG = .. IR [6]
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4 Asolid metal block has mass 5009 and volume 125cm®.

Work out the density of the block.
Give the units of your answer.
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$§  The object below is made from a square-based pyramid joined 10 a cubold.

13em

sem

acm

‘The base of the cuboid and the base of the pyramid are both squares of side 4cm.
‘The heigh of the cuboid is 8cm and the total height of the object is 13cm.
‘The total mass of the object is 1585,

The cuboid is made from wood with density 0.67 /e
The pyramid is made from granite.

Cacit o darity of o g
[ BN ——

gem[5]
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9 Asculptor needs to lifta piece of marble.
Itis a cuboid with dimensions 1m by 0.5m by 0.2m.
Marble has a density of 2.7 g/cm?.
‘The sculptor's lfting gear can lift a maximum load of 300kg.

Can the lifting gear be used to lft the marble?
Justity your decision.

14
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180g of copper is mixed with 105g of zinc to make an alloy.

‘The density of copper is Sg/cm?.
The density of zinc is 7 /e

() Work out the volume of copper used in the alloy.

(@

(b) Whatis the density of the alloy?

)

e 4]




